Redirect

You are playing a game of Don't Die! standing on the first integer out of a list of n integers, each
representing a square (or tile) on the one-dimensional game board, a[1], a[2], a[3], ..., a[n] (you are
ata_1right now).

You have m turns, if you fall off the list of integers in one of these turns, you will die and thus lose
the game, otherwise if you are still alive by the end of all m turns, you will win the game.

Each turn works like so: if you are standing at index i, you have the choice of moving to eitheri +
alijori+ afi] + 1.

Additionally! There is one square in the game which is super-charged, should you get to that
square, you can also go to i - a[i].

Determine if you can win the game.
Input

Your first line will contain two space-separated integers n (0 < n <= 100,000) and m (0 < m <=
1,000,000,000).

Your next line will contain n space-separated integers, the i-th of which representing a[i] (1 <= ai]
<=1,000,000,000).

Your next line will contain a single integer between 1 (inclusive) and n (inclusive), representing
the index of the super-charged square (one-indexed).

Output

A single line containing either WINNER (if you can win the game) or LOSER (if no matter what you
do, you will lose the game).

Input 1
32

123

2
Output 1
LOSER
Input 2
31

123

2
Output 2
WINNER
Input 3
210

11

2
Output 3
WINNER
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